(RN
<

(8 ) (rad)

B DO TN TUUUL FUUUE O T

a(d cot(B))

o
x |lllll.lillllIlllll:llllllllll:llllIlllu.:.llllllllllillllll || lluuul.luullullllu|1|1|.1|1|||11Il||||
1p ||IIITIHTTITIIIII.IIIllIllII.IIIITIITTI:IITTI'ITTII.T”'”I |||| IT“||TT1'TTTIITITII'TIITTITIIIITIITTT'[“Tl||
0.95 . ; . . 5 i . . . .
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—— RV |||n|n |0n
= %g = :§I§H338§TI°H
=— BEV-H—oidina-3plsa
=10 = I
1] €
S i
;? g
=) =
5 15 T | S S

1072

a0 p,/p,)

[V~

102....I....I....I....I....I....

Ratio

Lisa s e |
| Lt b L AL b |

w)|

=3 -2 -1 0 1 2 3
TP n (PCA to beamline)

TP n (PCA to beamline)

0953510 T2 3

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


